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= — PEBARK NEBRAR
BAETIV A AN TT Z— A EI4EKVA A AN T Z— A EI60KVA
A—h— LT T
B SDG45S-7B1 SDG60S-7B1
2K A 1,870 2,080
~Tik =
(mm) 21iF B 860 1,000
25 C 1,590 1,560
50Hz 37 50
H A KVA
60Hz 45 60
[B] B& £ 3 2
FCEN AT BE
At DKW 11/75/55 11/11
50Hz 107 144
(A)
60Hz 118 157
PR Bl Bh
AUOBRE (L) 325 400
50Hz 6.5(75% B 17 B ) 8.1(75% & farh)
BREHEB S
60Hz 8.2(75% & fi7 ) 10.2(75% & i k)
50Hz 50(75% B T B ) 49 (75% & T i)
T 5012 B B
60Hz 40 (75% & =T ) 39(75% & T %)
BEERE = (Kg) 1350 1640
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HFETIL AAINITIVR | ZANTIVR | AN TIVR | AANLTUR
—I{KEI13KVA | —{&BI25KVA | —{kBU45KVA | —{AZI60KVA
A—H— i T % T T3— Fo3—
Ve SDG13SF SDG25SF DCA-45LSKB DCA-60LSIB
2K A 1,480 1,570 1,850 2,090
(Trrn f) 2108 B 650 700 880 980
25 C 1,160 1,195 1,600 1,540
50Hz 10.5(B6.1) 20(E11.5) 37(E12.0) 50 (& 15.0)
KVA
60Hz 13(&#7.5) 25(E144) 45(Ei13.2) 60 (E16.6)
H A
50H=z
KW
60Hz
50Hz 30.3 57.7 107 144
Bl
(A)
60Hz 34.1 65.6 118 157
50Hz 115 19.1 38.0 479
TE
HHh
60Hz 13.7 23.5 456 57.1
ey 2 23t 82im B 82im
AUHBRE (L) 95 145 350 420
P 5096 (1.8) 509 (2.9)
PRELEHE S 50Hz 75% (2.2) 75% (37) 5.1 6.5
60Hz 50% (2.4) 50% (3.6) 6.9 8.8
75% (3.0) 75% (4.7) ' '
BEERE = (Kg) 670 820 1490 1690
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ETIL 10/12KVA(EB{E)| 25KVA(EBIE) 45KVA 60KVAGEEIE)
A—H— i T % b T % b T % T
ik SDG12S SDG25S SDG45S SDG60S
2K A 1,520 1,570 1,980 2,090
Tk =
(mm) 2108 B 750 700 900 860
25 C 900 950 1,250 1,220
50Hz 10 20 37 50
KVA
60Hz 12 25 45 60
H A
50Hz 8 29.6
KW
60Hz 9.6 36
50Hz 28.9 57.7 107 144
(A)
60Hz 315 65.6 118 157
50Hz 14 19.1 46.5 48.1
TE
H A
60Hz 17 235 56 57.4
ey 2 2 B} 23 B}
AUHBRE (L) 50 65 100 135
P 50% (2.9) 50% (4.4) 50% (6.0)
WHARE | 50Hz 75% (3.7) 75% (6.3) 75% (8.6)
60Hz 50% (3.6) 50% (5.5) 50% (7.5)
75% (4.7) 75% (7.8) 75%(10.5.)
BEERE = (Kg) 580 590 1,025 1,260




